City of Toronto

1. To what extent do you approve or disapprove of David Miller's job as Mayor of Toronto?

Proportions/Means: Columns Tested (5% risk level) - A/B/C - D/E

Overlap formulae used. * small base

Detailed tables

HOUSEHOLD INCOME HOUSEHOLD COMPOSITION
Total <$30K [ $30K-<$60K | $60K+ Kids [ No Kids
A B C D E
Base: All respondents 803 122 266 415 175 628
Weighted 803 226* 334* 243 138* 665
Strongly approve 85 33 38 14 12 73
11% 15% 11% 6% 9% 11%
Somewhat approve 258 69 117 72 44 214
32% 31% 35% 30% 32% 32%
Somewhat disapprove 210 76 87 a7 38 172
26% 34% 26% 19% 28% 26%
Strongly disapprove 250 a7 92 110 43 206
31% 21% 28% 45% 32% 31%
AB
Summary
Top2Box (Approve) 343 103 155 86 56 287
43% 46% 46% 35% 41% 43%
Low2Box (Disapprove) 460 123 179 158 82 378
57% 54% 54% 65% 59% 57%
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City of Toronto

2. Overall, do you believe that the city of Toronto is:

Proportions/Means: Columns Tested (5% risk level) - A/B/C - D/E

Overlap formulae used. * small base

Detailed tables

HOUSEHOLD INCOME HOUSEHOLD COMPOSITION
Total <$30K [ $30K-<$60K | $60K+ Kids [ No Kids
A B C D E

Base: All respondents 803 122 266 415 175 628
Weighted 803 226* 334* 243 138* 665
On the right track 342 107 148 87 55 287
43% 48% 44% 36% 40% 43%
Headed in the wrong direction 461 119 186 156 83 378
57% 52% 56% 64% 60% 57%
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City of Toronto

Detailed tables

3. If there was an election for the Mayor of Toronto tomorrow and the two main opponents were the current Mayor David Miller and former Provincial Progressive Conservative leader John Tory, who would you

choose?

Proportions/Means: Columns Tested (5% risk level) - A/B/C - D/E

Overlap formulae used. * small base

HOUSEHOLD INCOME

HOUSEHOLD COMPOSITION

Total <$30K [ $30K-<$60K | $60K+ Kids No Kids
A B C D E
Base: All respondents 803 122 266 415 175 628
Weighted 803 226* 334* 243 138* 665
John Tory 271 61 87 123 43 228
34% 27% 26% 51% 31% 34%
AB
David Miller 219 57 109 54 37 182
27% 25% 33% 22% 27% 27%
Neither/Someone else 312 109 138 66 58 255
39% 48% 41% 27% 42% 38%
C C
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City of Toronto

Detailed tables

4. And now, If there was an election for the Mayor of Toronto tomorrow and the two main opponents were the current Mayor David Miller and current Liberal Deputy Premier and Energy Minister George Smitherman, if
he stepped down as an MPP and cabinet minister to run against Mr. Miller, who would you choose?

Proportions/Means: Columns Tested (5% risk level) - A/B/C - D/E

Overlap formulae used. * small base

HOUSEHOLD INCOME

HOUSEHOLD COMPOSITION

Total <$30K [ $30K-<$60K | $60K+ Kids [ No Kids
A B C D E
Base: All respondents 803 122 266 415 175 628
Weighted 803 226* 334* 243 138* 665
George Smitherman 228 43 97 88 41 187
28% 19% 29% 36% 30% 28%
A
David Miller 171 45 72 55 38 133
21% 20% 22% 22% 28% 20%
Neither/Someone else 404 138 165 101 59 345
50% 61% 49% 41% 43% 52%
C
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